
©B N2r0W1g8G ]K\untpaP JSboXfYtow^alreeL BLyLCCg.U i ]AYl_lz tr]idg]hqtosN crfeIs_eyrJvheydf.Q I aMgahdiet cwnixt^hu WIgnjfaiQnYiBtseq aAqlbg^eTbCrtaV i2m.

Worksheet by Kuta Software LLC

Honors Algebra 2

Unit 1 Quiz REVIEW

Name___________________________________

Date________________
©q n2Q0Y1o8u wKWuCtjaO fSUoffMtiwHaprneq wLJLrCU.o I CAdlLlL YrciTgDhptQsC xrYeLsce[rHvGe\dX.

-1-

Complex Operations. Show all work WITHOUT a calculator.

1)  (-2 + 8i) - (-7 + 2i) 2)  (2i)(-7i)(7 + 4i)

3)  (4i)(5 - 5i) + 3(7i) 4)  (-7 - 4i)2

5)  
-4 - 2i

-6i
6)  

5 + 4i
3 - 9i

Factor each completely.

7)  x2 - x - 56 8)  2p3 + 15p2 + 25p

9)  7v2 - 57v + 8 10)  5k2 + 8k

11)  50k2 - 8 12)  4x2 + 12x + 9

Solve each equation by factoring.

13)  2n2 - 16n + 14 = 0 14)  5n2 + 42n = -49

15)  9x2 + 6x = 8x2 16)  x2 - 12x + 4 = -8x
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Solve each equation by completing the square.

17)  r2 - 12r - 53 = 9 18)  a2 + 44 = -2a

Solve each equation by taking square roots.

19)  5x2 - 7 = 173 20)  5r2 + 4 = -61

Solve each equation with the quadratic formula.

21)  9v2 + 2v - 1 = -3 22)  -4x2 + 11x + 19 = 2x2 + 12

23)  2n2 - 12n = -15 24)  x2 - 10x = -4

Find the discriminant of each quadratic equation then state the number and type of solutions.

25)  5n2 + 8n - 4 = 0 26)  -4a2 - 6 = -a2 - 4a
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Complex Operations. Show all work WITHOUT a calculator.

1)  (-2 + 8i) - (-7 + 2i)

5 + 6i

2)  (2i)(-7i)(7 + 4i)
98 + 56i

3)  (4i)(5 - 5i) + 3(7i)

20 + 41i

4)  (-7 - 4i)2

33 + 56i

5)  
-4 - 2i

-6i

-2i + 1

3

6)  
5 + 4i
3 - 9i

-7 + 19i
30

Factor each completely.

7)  x2 - x - 56

(x + 7)(x - 8)
8)  2p3 + 15p2 + 25p

p(2p + 5)(p + 5)

9)  7v2 - 57v + 8

(7v - 1)(v - 8)
10)  5k2 + 8k

k(5k + 8)

11)  50k2 - 8

2(5k + 2)(5k - 2)
12)  4x2 + 12x + 9

(2x + 3)2

Solve each equation by factoring.

13)  2n2 - 16n + 14 = 0

{7, 1}

14)  5n2 + 42n = -49

{- 7

5
, -7}

15)  9x2 + 6x = 8x2

{-6, 0}

16)  x2 - 12x + 4 = -8x

{2}
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Solve each equation by completing the square.

17)  r2 - 12r - 53 = 9

{6 + 7 2 , 6 - 7 2}

18)  a2 + 44 = -2a

{-1 + i 43 , -1 - i 43}

Solve each equation by taking square roots.

19)  5x2 - 7 = 173

{6, -6}

20)  5r2 + 4 = -61

{i 13 , -i 13}

Solve each equation with the quadratic formula.

21)  9v2 + 2v - 1 = -3

{-1 + i 17

9
, 

-1 - i 17

9 }
22)  -4x2 + 11x + 19 = 2x2 + 12

{- 1

2
, 

7

3}

23)  2n2 - 12n = -15

{6 + 6

2
, 

6 - 6

2 }
24)  x2 - 10x = -4

{5 + 21 , 5 - 21}

Find the discriminant of each quadratic equation then state the number and type of solutions.

25)  5n2 + 8n - 4 = 0

144; two real solutions

26)  -4a2 - 6 = -a2 - 4a
-56; two imaginary solutions


